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M

117,036
57,036

57,036

28,518
14,259
14,259

60,000

110,051

6,985

HH o

600,000
300,000

45,000
255,000

600,000

401 Al&HIL 2

M H O

600,000
300,000

45,000
255,000

600,000

01 A& H

>

tel 596,220,000

Mo

596,220
596,220

596,220

300,000
45,000
251,220

3,780
3,780

596,220

3,780
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B9 M
DX 2 MENH SAES(EEES/AA)
To Y MEHEH 25 ECR-ED
SA BB .S (BH) - MBEAY - B2 Ao dE = SmE=L
0fl &t 01
—HUMEHZER JsEZAY
600,000, 000& *0.63/100 3,780
gl Z2& X 24 AY 300,000 0 300,000
= 239, 352
= 60,648
401 AlEHIL 24| 300,000 0 300,000
= 239, 352
o 60,648
01 Al &HI 297,840 0 297,840
O=ZHIBZ AL 297,840
— I3l S &R EH AL 297,840,000 297,840
= 239, 352
o 58,488
03 Al 201 HI 2,160 0 2,160
ON3NBEXN =LA
300,000,000€%0.72/100 2,160
A= MEIZBSE 29 22 4,000 4,000 0
201 dBF2HH| 4,000 4,000 0
01 At 22| 1] 4,000 4,000 0
OFAUs MHZER ES2S(2IE2x+I L) M
4,000,000& *13] 4,000
ot M D HSAIY 451,000 0 451,000
= 316,000
= 135,000
101 o124 d| 105,680 0 105,680
= 105,680
04 J12ZtHZ2E2XNSE 105,680 0 105,680
O=ZHIEXAIE 105,680
—ot&E MY Dl HIAIY 105,680
22 37,000& 11 «170 69,190
= 69,190
e e | 37,0008 x11H x46L 18,722
= 18,722
- SAENH| 3,000&*11Y %170 5,610
= 5,610
cAEE = 93,522,000& *0. 13 12,158
= 12,158
201 LBt HAH| 45,320 0 45,320
= 31,732
= 13,588
01 At 22| HI 45,320 0 45,320
O=ZHIBEXAIE 45,320
— Bt~ ZH| 11,320
otM D] =HER 2 11,320,000 11,320




SN BASIMD
o e U MEHH BARS(HFBS/NN)
Sl MY U MEHEY 25 CEEREED
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
= 7,932
2 3,388
—gxR2 34,000
CBHEMYI| SAHSUFY YR
500, 0002 +68CH 34,000
2 23,800
2 10,200
307 ©I2+0IF 300,000 0 300,000
2 178,588
2 121,412
05 2129t 3 300,000 0 300,000
CETEEIV= 300,000
—stEE 2ReM| e Kl
200,000 * 1,500 300,000
2 178,588
2 121,412
4T PR (HIRBS/MOLT - £T) 2,905, 147 2,499,860 405,287
= 65,000
7 2 2,840, 147
+uwE2R 2,905, 147 2,499,860 405,287
= 65,000
2 2,840, 147
IZs I XL 200, 129 52,820 47,319
= 15,000
2 185, 139
201 YBr2 | 3.735 30,820 4,915
01 AtR 22| 19,355 17,820 1,535
SHEES=1t] 17,255
—ZESTY O ABHE LX)
80,0002 +217 & 1,680
-51By FAUSS s2E N
200, 0008 *43| 800
~ZEITY FAMESE L FLASEIY
505,000 +217H & 11,025
NS AMRE X
150, 00024 * 1324 2 1,950
—OS018 8B ANSE X
200, 00024 *97H £ 1,800
SEET 2,100,000% 2,100
02 ZZ2YH| 16,380 13,000 3,380
OZESEA HIQI  40,00021+210 A +122 10,080
OZETY HG4+=23
25,0002 x217 A +128 6,300
202 01t 5,184 1,600 3,584
01 2UHOIb| 5,184 1,600 3,584
OZEsa eFY YRFF 5,184,008 5,184
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A SEAML
HH: 2FQHEP 2o (BHES/M6teE - +F)
& =22 d 2t (&9 HM
- = — N e —
FAH-FH-SASA) - NRAE - BE=Z O AF K '@E% Hlw &2
307 g12+01 ™ 72,720 65,400 7,320
05 QIR El =3 72,720 65,400 7,320
OZsa&4d e 72,720
—HEAS(EL) U™
60,0002 x24I & *123] 17,280
—SSEY 2He/AE
220,000 2101 &+ 122 55,440
401 Al HIL 2T 86,500 55,000 31,500
[ 15,000
= 71,500
01 A& H 86,176 55,000 31,176
O3FSEA N4 RAES 56,500
—AMNERXE=> 1,500,000 217 & 31,500
LSS A AR2ed
5,000, 000 *5H 2~ 25,000
OZHIEZ ALY 29,676
— &1 StEA HES 29,676,000 29,676
< 15,000
= 14,676
03 Al€ 2CHH] 324 0 324
OZHIEZ AL 324
— 01w stEA HES
30,000,000& «1.08/100 324
XNolssaHMelAld 2el 28,880 30,080 21,200
201 Lgr2E 17,680 17,680 0
01 AtR2telH] 2,560 2,560 0
Ogt==2H| 2,560
—XEHelAlE Rz ARE 7Y
148,000& 10 1,480
—dDIetd HE e === 90,0008 *12& 1,080
02 23224 15,120 15,120 0
O332=aLHA 1,260,000 x12& 15, 120
206 M =] 1,200 1,200 0
01 H =l 1,200 1,200 0
OXEs2rHelAd AdZ57Y
240,000& 53 1,200
401 AlEHIL 201 10,000 10,000 0
01 Al&£H] 10,000 10,000 0
OXES2eHMelAeE ExZA
10,000,000 10,000
F=XclAlE 2el 2,359,614 2,230,960 128,654
201 L2 371,430 281,770 89,660
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A SEAML
HH: 2FQHEP 2o (BHES/M6teE - +F)
& =22 d 2t CEREED
% = . dEE =
FAH-FH-SASA) - NRAE - BE=Z O AF K '@E% Hlw &2
01 AtR2telH 11,430 11,500 AT0
Oggt+==ti 9,100
-2 XMelAME B2 Re= MHA
1,000,000 =13l 1,000
—JIEEL g8 EES MH
2,700,000& %12 2,700
—IJIEANEsI 450 AESX 222 ¢
S8 M 1,000,000 *13] 1,000
—0ldd =ZIMN =2 500,000 *23| 1,000
—=HelAlE SAEE LM =8
700,000& *23] 1,400
—IJIE2h ¥ 2aX2AIE A HIIZA
= 1,000,000& =23l 2,000
OZII=AE Kot =2HA =2
1,700,000 1,700
O=&tl 630,000 630
02 SE=24H 360,000 270,270 89,730
O=32Z2LHA 360,000
—E2L-HdelE &dlies 4,500,000 128 54,000
—JIIEER B3H2AANE &S
25,500,000 128 306,000
202 04| 5,184 5,184 0
01 =Liodbl 5,184 5,184 0
O=HelAld 22 GRF2 5,184,000& 5,184
207 ANl 123,000 60,976 62,024
01 g9 123,000 60,976 62,024
O=I33HUAE JIsddtsdy
63,000,000 63,000
ON=2a3SH2AE dFHI =8 2R
32,000,000 32,000
O2=aHMelAlE dFIIsdH B9
28,000,000 28,000
307 @I2+0l ™ 1,480,000 1,659,030 A 179,030
05 It E= 1,480,000 1,659,030 A 179,030
O=HelA& QUAAES 1,480,000,000& 1,480,000
401 Al EHIL 2T 350,000 200,000 150,000
01 A& 347,480 198,380 149,100
Os=d Xl EHISHAIE HEALE 148,920,000 148,920
ON=EE=I33HEANE sX22
198,560,000 198,560
03 A& 201 2,520 1,620 900
Oz X EHISAIE A
150,000,000% *0.72/100 1,080
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A SEAML
HH: 2FQHEP 2o (BHES/M6teE - +F)
& =22 d 2t CEREED
SN HB SR (BIH) - A - B S 0l &b S D=2
= T ° - = S = &= O:H{ﬂ,% WS
ONEELIEHelANE sX2e
200,000,000 *0.72/100 1,440
405 KtatE =S| 30,000 24,000 6,000
01 MY SFHSHI 30,000 24,000 6,000
O=HXMe2lAlE JIXM 2+ 30,000,000& 30,000
BHEX StEA AR 150,000 0 150,000
& 50,000
i 100,000
401 Al EHIL 2OHY| 150,000 0 150,000
[ 50,000
i 100,000
01 A& HI 148,920 0 148,920
OZHIEx=AE 148,920
—SHZE EA X 148,920, 000& 148,920
& 50,000
= 98,920
03 Al& 201l 1,080 0 1,080
OSHIEZ ALY 1,080
— EHZEE SEA 4R
150,000,000% *0.72/100 1,080
s3HX H=-3ZHalE Il & 100,000 0 100,000
401 A& HIZ 2 0HHI 100,000 0 100,000
01 Al 99,100 0 99,100
O=3¢X H+ZY Mald Wl EX1(200 2
) 99,100,000& 99,100
03 Al& 201l 900 0 900
O=s3¢X H+Z2 Mald Wl 812004
) 100,000,000 *0.90/100 900
LS 2l 66,514 0 66,514
207 & IHEH| 66,514 0 66,514
01 2= 66,514 0 66,514
O2011d e @EEgac 0ldEI 89
49,500,000& 49,500
OBiE a2 A& 2LIHE &9 17,014,000 17,014
AE - M 22| (BH/ASoA0A) 45,394 267,842 A222,448
= 771
& 400
i 44,223
?| M otM 2te| 45,394 267,842 N222,448
= 771
= 400
= 44,223
AlZotMate| Jletx Y 24,590 247,838 N223,248




oF
R’

ok
ol

[ee] o Al () (@) o () (e} o o
NA =2 NS S S S
A e} 3
KIo < <
E
D
o o () Q Q < < < o o
« «Q A A L Q| © ~ ~
L ] [aN] [aN} < N~ [ «© «©
LW ET 5 ” -
(o]
uiled!
KIS
— O Al — — o o o o o o o o o o o o Al [aN} ANl — — [ee] [ee] [ee] <t O O < < <t < o O o o o o
N~ — < N~ (@] (@) [e] o (] (=] o o (e} o (] o <t <t <t N~ N~ M <t <t Al O O Al [qN] [qN] Ql o O O O (] o
SNToNIT S 8 98 S S KoSBbBho NN NOaIIY II0II0I0 0|8 IISILNS
<t Q] — | — o — @ — — — [ep] N N M (V] [aV) (V] Lo <+ [ M~ N~ [ O | M~
[aN} Al [aN} [aN} — — —
3
<
=
e e LN e W
~J 4 < W <1 < d4 <A o o oF) o} o) )
o = = < == == -= = O O o [V} (e} N~
(@) ™ m x ™ ™ ™ ™ x o (@) — o x
* ok =2 9 88%g = = < &
or [0 o oW S x * X ®x O O < © N S
X0 S 652 W oW o Ww e ™~ 5 «° S
(] (@) o (@) o o (@) o (@] (ap) —_— n. [ o
Bl . S O L o S S & O D N S
. ~ S o YK & & o A 2 b -
31 o owe S Re _w Ko o 1o o
v = = m. o m. K — S
wA_. x X il O il <
= 3 oMo m M R = _
= R = . ) <
= o ., — o W = i) = I
. w M 4P ox z ™ o
— 00 = ] o 100 KD ol N M_v o H
= IR Hs 2 7 = &t £ 20 = =3 o
@ <k Wo z0 __m_w oF uwo Mﬁ < W a KO Ok =K 4 %
F T o xr K0 o o < Hio R !
i 5 sWwAa W ommw= W & A 5K T |z o IR
50 To<F K WIF K AW ORI D B M R =] = 5 &l 2 20 Y
s Ok AaoE I HsSs ®E T B RR W MHDE |z « 4 = | o ol
Rl 3 oF ol | _ Lo _ | I 1 0 Mool Wil o 30 T |3 |3 o K
R0 an = O O [ O Zl= O bl S Ofon ~ O
: S P = L5 r N5 paS S
X N « i & ®
I+ <

_19_



SN BT
I AE SN B2 (2A/ABOIGOHH)
el MorE T (el & 2
. _ o HEG =
SM-EH . C(BH) - HRAY - B2 O AF o8 il i~ o B2
OAHITIAIZRIM LA ESY|
30, 0002 %202 *103] 6,000
O2IEFAL 800
—ALUOZAE BSY) 800, 0002 800
= 400
= 400
25 Sue 5,480 5,480 0
201 YEr2 Y| 2,000 2,000 0
01 A2 22l 2,000 2,000 0
OsragY| 2,000
—DEAMAT ELME ERE H
10,0002 %2001 2,000
202 048 1,680 1,680 0
01 2UHOTH| 1,680 1,680 0
OZEAMAL KT 1,680,002 1,680
301 BB A 1,800 1,800 0
12 JIER A 1,800 1,800 0
OYUZEAMANR HSH| 1,800,002 1,800
™S AHY (B M) (OIEHIIE 26,290 27,400 A1,110
ol =2 bl 26,290 27,400 A1,110
S[EETE 26,290 27,400 A1,110
201 LBt | 10,690 1,200 A510
01 AR 22l 10,690 1,200 A510
OLIETE-= 1 10,690,0002 10,690
202 01t 1,400 12,000 A600
01 2UHOTH| 11,400 12,000 600
OSMSY(AH, MU, 998 &4 5)
11,400,0002 1,400
203 YR E=TY| 4,200 4,200 0
VENEEEEESSN 4,200 4,200 0
ORASgAREwY) 4,200,0002 4,200
WRES(HARIMI)(BBLS/MEEE - 2) 282,964 282,964 0
TEPEE= 282,964 282,964 0
JIEtE N T ES 82,964 82,964 0
701 JIEISI AT &S 82,964 82,964 0
01 JIEtEI T ES 82,964 82,964 0
OSZXNPZLAMASESE N HES 82,964
~SRNTHAZLHY SN2
70,964,0002 70,964

_20_




oF
R’

ok
ol

(@) () o
A0
Ko
=
D
o o o
o o o
o (] O
sls|s
K] S| S|
m<l
KIS
o o o o o o o
o o (=] o o o o
S|lefa|lea S S S
[qV] o o o o O O
— o [} (@] o [e0) Al
Al Al Al Al —
(o]
<
=
e R BB
RIS S«
KX no S W
o for % ~ 88
0 |-8 o S 3
K - — o O
Bl PR = o o
. 20 S o) T2
& |ar— Kt S
= | ar
* = _WAO 3l
z | <k
= % B
. B n
- KO KF <k
N I B <+
o R = )
F | ORI 113
g |40 o0 &= & oW
o K N TN
. = R g s =
=1 _ mo|rnojrdo = ||
K0 Wmi=s|[~ O
0 K| o | —
i m| =R
I+ N

_21_



